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PART-I : COMPULSORY / 9W-I :

GENERAL STUDIES / U1 3¢9

1. frafafen s a9t & @ fFR wma #
‘it 1 @’ % 9§ A S 87

Which of the following census years is

known as thc ‘Year of Great Divide’ in
India?

(a) 1911

(b) 1921

(c) 1951

(d) 1991

SRI method is felated to !
(@) wheat

(b) cotton

(c) mustard

(d) paddy

Which of the fol'ld“ri'fi}g‘ palrs is not
correctly matched?

Crop Insect-pest
(@) Groundnut : Pod borer
(b) ‘Gram =~ :" Pod borer
() Paddy- . ' : ‘Banka. .. f;j
(d) Maize : Stem borer

The rotation intensity of Maize-Potato-
Mung bean is

(a) 100% o

(b) 200% M

(c) 250% &)
Dma00% R G e VR B

Which of the followmg paxrs ‘15, not
correctly matched? n E

Crop 'Vanety )
() Groundnut : Kalishal y
(b) Mustard ¢ Vardan ., &
() Linseed : Chamatkar |
(d) Gram s oUdai ©h81 (1)

(a) 1911
(b) 1921~
(c) 1951

- i 7

abirgine..s
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(b) ‘@ A
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(a) 100%
(b) 200%
(€) 250%
¢ (d) ©300%

plpnet n i

5. ﬁn%iﬁaﬁﬁﬁq-mgmaﬁgﬁ%ﬂﬁé?

HiD wiran

s BELE
(a) e ;B o
(b) wE T
(@ A o
@ 0w oo Ll

()

{H


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal2

eY

6. Which of the following, diseases cannot
be cured by antibiotics?

(a) Tuberculosis \
{(b) .. Tetanus

(c)
(d) Cholera

Measles

I i

7. Which of the followmg paxrs 1s

not

correctly matched? L &2

(a) Computer : Charles'Babbage

(b) Radio .7 . :KarlBenz: ... ¢

(c) Barometer : E. Tomcelh

(d) Dynamo : Mlchael Paraday
8. The communication ‘satellites; are

invariably 2 A

(a) revolvmg at thelr own speed

(b) statlonary - % S

(c) geostatlonarsl

(d) changmg thelr track and— speed

9. For which substance among - the
following, conduct1v1ty 1ncreases with
temperature?

(@)
(b)
(c)
(d)

CoDDer. s o
Germanium
Silver

Iron

10. The area of a regular.hexagon 'of side
2J3 cm is
@)

L LAY o5 T JOI [
oy TR eT 18 e e o

I”12~f_ cm

1“ f

(b) 182 cm?1 A}

18 cm

(©) 2y il

(d 18/3 cm? 1

GS-C7 | 4
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(@) &
(b) T
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(d) B
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@) R ¢ T A
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(o Fhw o TN
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11.

12.

13.
|
\
14.

15.

GS-C

If * 2x+2=3,
X

then: the ' value of

x3+i3+2 is
X

(a)

| Ww

v’

If one of the roots of the. quadratic
equation 2x? + px+4=0is 2, then the
other root is

(@)
(b)
(c)
(d)

In which State was the military exercise
Vijay Prahar’ held in May 2018?

(a)
(b)
©
(d)

Who has won the Women Singles Title of
Badminton in Commonwealth Games,

Maharashtra
Gujarat
Rajasthan
Madhya Pradesh

2018?

(a) Saina Nehwal "
(b) P. V. Sindhu

(©)
(d) Michelle Li -

K. Gilmour o

In the World: Press Freedom Index,
2018, India is placed at

(@ 135th o ¢
(b) 136th
() 138th
(d) 137th
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16. In; which of the followmg texts, it 'is
stated that those who could not speak
Sanskrit language correctly were called

17. Match List-I with List-1I-and. select the
correct answer using the codes given

‘Mlecchas’?

(2)

(b)

(c)

(d)

below the Lists :

217 List=I
(King)
Chandragupta I
Samudragupta
Chandragupta II

Sow?>

Kumaragupta I

Codes ;" e i s

@ A B C
2 3 4
k) A B C
3 #2 4
(c) A C
3 1 2
@ A B
4 3 1

GS-C

~
v‘I'n:?

Shvetashvatara Upanishad

Gopatha Brahmana

Brihadaranyaka Upanishad

I ¢
it o1

Shatapatha Brahmana ° *

)t

s List-IT+

Ht=2) z(SpQuse)'

1. Dutta Devi
2.. Kuberanaga
3. Kumara Dev1
4. Ananta Devi

(e d
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18. With reference to the book Arthashastra, 18. 3ofwra N (NED % e # fr=fafad i 4
which of the following statements is/are .E?H-’HT/@I ERERCR %/!E‘-?
correct?

1. %mnmnmésﬁéqﬂw
TiefRan IcHE T 8

1. It is the oldest masterpiece on
Indian State Policy.

o

2. There is no description of Mauryan 2. TS H WY NI A WA

empire and administration in this ﬁa@@q‘ﬁ f 'E'i”"
L0 £ $ 2w M 2 F WM W qE@ IR gl
Select the correct answer using the '
- codes given below. ®e
Codes : ) é jor
(@) 1 only (b) ¥a9 2 '
(b) 2 only (c) 1 323

(c) Both 1 and 2 (d) T@1IRAD 2

(d) Neither 1 nor 2 .
'19.m%mWﬁﬁu%mmﬁ%

19. Who among the following addressed T % w9 1 awn?
Delhi as one of the greatest citiesin the | .
world? (a') 35{3@\/ i
(a) Ibn Batuta o (b) STele®Al B
(b) Alberuni : (c) wRwar ;
‘:l.‘ (3] 455
(c) Farishta
(d) ST Bt

(d) Abul Fazl : :
2o.mﬁwmuﬁmwmmﬁ€tm

20. Who is known as the Fathe;': qf India’s ST @ b Scromistid’ sl fte ) a8
Local Self-Government? . :
(@) Lord Lytton R (@) aféﬁnq
(b) Lord Ripon (b) H‘f@.‘ﬁqﬁ\/ U sanng
(c) Lord Curzon - (c) TS ¢
(d) Lord Dalhousie . . . - . | (d) FESTR o
21. At least how many da&s are required | 23, WA % “{quﬁi T, 'q'bl'[fiﬁﬁq 1 P I L
to give the prior notlce 'for 'the {0 FR-Q-an T f -ﬁqj T’Fﬂ W%?
impeachment of the President of India?
(@) 7 days <. @), 7R ; plamaR it
(b) 14 days e LR »
() 21 days SO (© 21fA Skt [
@ 30 days ‘ j @ 30 A " A

........
A

Gs-C N/ . [ PT.03
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22. Who administers the oath of office and | 22. ¥id ol ng Feeramal 27 ; aﬁ‘
secrecy to the Govermor of a State in / ﬁq:ﬁumiﬁﬂq”

India?
() A <l quﬁ'

(b) 3T 7 ST

@ e 3 31 AT G A

(@) The President of India.
(b) . The Vice President of India
() The Chief Justice of the High Court

of thc State - (d) =g faum @ JAAY
(d) The Speaker of the Leglslatwc tﬁmﬁﬁ
Assembly of the State 23 TR A % AT g ;ﬁf %B i
Frar 6 e 1 e o T
23. Which Part " of our  Constitution
envisages a three-tier system of (a) ¥ IXV
Panchayati Raj? el ) (b) WX
(@) Part IX fofie o ":,’;' v £ A
) - () ¥m XI (e
(b) Part X e 1B b
(¢) Part XI 4

@ Past it Ll e 24, Freta k| 1‘1 forg Toa § A TR T
RS B R ; %? v s M

24. Which of the followmg States has no

oil refinery? - bl (2) TV

(@) Gujarat LidRat” ; (b)
(b) Kerala o TN ; (c) BTG
(c) Chhattisgarh  « sndf s (B (d) gfim sd

(d) West Bcngal

o Thyic o A
‘ '

FEiE) ] 28, Peafafen QAR waﬁ a!@i%m L

25. Which of the following rivers’ does not Wgeﬁ%? : 5

flow in Australia? ... | ‘ ‘ ;‘

- . s L (a) mf{a-{ ; . N .:':

(a) Hunter River o . 8

P L0 e g

(b) Flinders River ‘ (b) fRred Rex R

(c) Orange River B ' (c) ¥ frar

(d) Gilbert River /77" T (8 (d)  Fresd fmg
26. Which' of the following States ‘recorded 26 ﬁqﬁwﬁga 9 ﬁ;q W £

decrease’ in' ’its” 'population :in’"2011 ﬁ W@TW ETG Nﬁmzouﬁﬁ . |

Census? s ’ , BT,

IR SV
(a) Kerala o \ (@) b
orhl Bl '

(b) Sikkim b (b) fafm .

(c) Nagaland AL (c) rmaice. ovib

(d) Manipur o0 (d) wfrR ~ rah (8

Gs-c 8
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27. Which of the following is the most
effective measure of population control
according to Malthus?

(@) War
(b) Disaster

(c) Birth control

(d) Social evils

28. Which of the fyollowingl is nqt a biome?
(a) Desert i |
(b) Grassland
(c) Ecosystem

(d) Tundra

29. Dudhwa National Park is’ situated in |

which of the following States?

(@ Assam " :
(b) Uttarakhand .
(c) Rajasthan . - 0

(d) Uttar Pradesh

30. According to the Fourth Round of
National Family Health | Survey, the
current TFR (Total Fertility Rate—
“children per woman) is

L= 1 ! fiose
i VIR o

(a) 2-2
(b) 32
(c) 42

d) 45 o

GS-C 9
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27. 7euq & IgeR Refifen § 4 #9-w 39
SraE- e § geaife gl 87

(a) %%
(b) 3THRT
() w-Frbmy
() wﬁﬁﬁt@’f

28 ﬁmﬁ@aﬁaﬁq-mwsﬁaﬁwﬁ%?

@ T

29. gwimavﬁ%ﬁq%mfi%mmﬁ
: f@m%?'

eyl w(a) W :1'”1.’; ’;:5;”,‘]‘:
AE0 ‘V R R ':'{:’w pe -2 ) Ao
(b) 3?1?1@73
(c) T
O

(d) IR FAS

30@%%@%%3@%%
aqma'c?mﬁ'aomoamo (@T«rm

T — = Fo e @

(a) 22 p

(b); 32 o
@42 i
(d) 45 | ek’ i)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

i Y . ; B e s y GET IT ON
YT T E—————

31. If 6 is real, then 31, af% 6 Tt ¢,
(a) cos(iB)=icosh6 \ . (a) cos(i6)=icosh®
(b) sin®)=isinh®. . (b) sin(i6)=isinh®
(C) tan(ze) =tanh® i \ (C) tan(le) = tanhe’\/
(d) cot(i)=icoth® y () cotfif)=icoth®
A | | 32. 9% z=x+iy, ’ 2
32. If 2=x+iy, where i= J— then z=3|_9 Y z+3
w e o T4 Prefa w ¢, R 3frt ol
represents a circle, whose centre and re %,
radius, respectively,:are
: e
(b) (_ 5, 0), 2 " ( ) ( 57 0)) 2

| -5,0
© (-50,3 (€ (50,3

@ esoa e L
33.Hﬁm(¢1)§$l§$lwq§l'€l @

If , th ‘
33. If (#1) is a cube root of umty then e (1- m+m2)5+(1+m m2) _32}

value of {(1- 0+ )5+(1+m (o) —32}1s

H A §
(@ O
(@ ©
(b) -32
TRl HFE D ®) -32
32 '
(A geed Wk RS AR P08 | o i o obl. et fnnoltall

"(d)‘ 4_64
b ,_ -' FEERED b o .v‘-“”!‘
34, The value of V3-4i is 34. V341 T WA 2

(a) 2+i i B

() 2+i
(b) 1+i SR B) 1+ | CE f
fe) 1 © 1-i
() 2-i d) 2-¥

/17-C 10
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35. If cos(x +iy)=cosa. +isina, then the value

of (cosh2y+cos2x) is

(@ 1
(b) 2
() -2

@ 2

36. The three chi)e r.oot.s.';)f‘ z=—81 ére
(@) 2i, —v3-i,V3-i
0) -2, -V3-4,y3-i
(© 26 -V3=i;/34i% ..

(@) 2i, v3-i, -3 +i

—
b

37. If Im( B ):—4, then the locus of z is
2z+1 : A

(a) an ellipse

(b) a parabola

(c) a straight line '
/o

(d) a circle ‘

38. If fl2)=(x +ay2)+szy 1s a complex

.. analytic. function- of z-x+1y, then the ! |
value of a+b.is .

(@) O : e .”!:1‘

! : i -
‘ i
(b) l/ : . .>‘.':~_'~,' I ) E f
A |
SO L ) I
@ -1 s S
gt W 1By %
(@ 2 B g 4
/17-C

GET IT ON
Google Play

35 ?Iﬁ.‘ cos(x+zy) cosa +isina, a

(COSh2y+cos2x)
amt
w1
g i o
T 2
1 (d) A2
36. z=~-8i % T ¥ §
C wwleel
a5
© 2 -3-iV3+i
d 2 Jg_l_ﬁ B
3?'“1%1“1(22 )=—4€l ?hszagqu%
@) A .
(b) T T |
O wEEm e
@ ww ,

|.(

fi1 el '/"/)“ { ,"‘ 4 ¢
. 38! 7R F D= (x2 + ay?) 4ibry, 2= x +iy F,F
' qfﬁ'm m?miﬁ;;ﬁau,bﬁm.m B

@ 0 ’

b 1. ‘)
(e 1 o ity
(d). 2;4 ¢

[ PT0.



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

eY

39. Which: one of the following is false?
(@) f(2)=Z is nowhere analytic.
(b) f(z)=22 is analytic everywhere.

© fi@=|z?

is analytic at z=0.

(d) f(z)=e? is analytic everywhere.

40. For zeC, the inequality |z+i|>|z~i]| is
(a) always true |

(b) never frﬁe

true for Rez>0

(©)

true forllmz'$0 P

(d)

é

41. The value of I d;c(1s

3143%

3

a ; :
()3 g ol L0 g e

(b)

() 3

(@ 9 4 75

42. The area bounded.by the curves y smk,
y=cosx.and y-axis.is: 50

@) V2+1 ) , q
Ji—i | _ | \I
2(,/§ -1) |
V2+1

(b)
(©)

(d)

;-'-" 13

‘ :,,amamg

2 ] e

/17-C 12
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SQ.WmﬁﬁW-W@W%?
‘.(a) f(z)=2$a‘hﬁ%s@rfﬁam€i%|
(b) flz)=2> A il &l
(©) f(Z)=Iz|2,z=om'2ﬁéﬁ$%|‘

(d) f(z)=ez EeCE| AvRF Bl

40. zec%mmﬁmmzpp |3
(a) @mm
(b) - Fft oft T T
(c) Rez>0% foau @

(d) Imz>0% fu g4

2
a1, P X _axmam2
31+3%

4l

(@)

C;Jls—-ﬂ_

(b)

O |~

() 3
(d 9

42, TR y= sinx, y=cosx 3N y-37& qR W<

(@ v2+1

(b) v2-1

() 2W2-y

@ Y2+1
2



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addx_)a » ‘1=%, then the value of | 43. 3R %—3=% @, d@la b
a, b will be Uil
() a=b=3 ‘ @ a=b=3
(b) a=b & (b) a#lb
(c) a=0,b=4 © a=0b=4 i
(S e=2 bl (@ a=2,b=1
44. Consider the‘ following sta’tem‘ents Ly | 44. R=fIRea FwEt 1 e Hfvw

I.  y=|x|is differentiable at x=0.

L y=|x}, x=0F & &1

. y=x|x|is di iable e , |
y=x |x|is differentiable everywhere .y |x|'ﬂéﬂ sEFeda 2|

Which of the above statements is/are |

true? : 3T Fol § A F-H1/Q T /R
(a) Only 1V _ (a) ¥ 1

(b) Only II (b) e II

() Both I and II - (c) 13 II Mt

(d) Neither I nor 1I @ FAANLIAI

45, Ifl=\/x2+y2+22,theh' ' ' 45.ﬂﬁ-l=\/x24y2+2271_‘ﬁ |
u ot . u

o Yoy "7 o oy o
is equal to \ TR & | ‘
@ o , &) o
(by ‘26 " et it ' (b) 2u
() -u A e R ? | (c) -u
(d) u? |

d) u?

46. The differential equation ‘of ‘the straight’ b o e Y ity e L.
lines at a fixed distance p from the origin | 46. T iﬁw 30 p W W W@ F e

g u k s N A, AT ‘é'.‘:f" 1 / JARIAL
@ at-w?=p?ury® T @ w-g®=ptaey?)
b) (+y2=p2+yPs - b (+9?=p2n+y?)

(c) (x—yy')2=P2(147-_'y~"‘,2)“v (c) (x;—yy’)2=p2(%+ii)';_2)

@) (x+yy')2=p2(1+‘y'2);, | (d) (?C'+yy)2=pi2(1+y_"2');

/17-C : 13 [ P.T.O.
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" 47. The solution of the differehtial,equation
d d
et
is
(@) (x+a)l-ay)=cy
(b) (x+a)(l1+ay)=cy
() (x+a)(l+ay)=cx

(d) (y+a)(l+ax)=cy

48. The value'of ¢ in Lagrange’s mean value
theorem for f(x)=x(x-1)in [1, 2] is

5k
a —
@7

3.
b = i *
(b) 5"

7 ! 14
c) —.
(c) 7

9
d =
(d) )

(_f‘,;
49, If

x=a(cost +tsint)’ |
y= a(sint = tcost)

2.
d_les

then the value of
dx2

t
—secSt
a

(@)

(b) at sec3 t
'_1. sec3 t

(c) .

a

asec3t

r(d) —

lim xs.in"l =B;

50. If lim xsml_A and.

x—0 \ x . 5 x-)n (x
then which of the followmg is true?
(@ A=B=0 T A o)
(b) A= Oand B=co "

i S

(c) A= 1and B=es
d) A=0and B=1" ' w) (D) )

/17-C

14
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47, saHA AT )
' dy: (.2 _LJJ
y—xa—;—a(y +dx
T R

@ (xrai-an=cyV
(b) (x+a)(l+ay)=cy
() (x+a)l+ay)=cx
d) (y+a)(l+ax)=cy
48. [1, 2] ¥ f(x)=x(x- 1)%mmmwun
gfmﬁ cﬂqﬂ% :

(@

4

(b)

(c)

(d)

49, IR

x=a(cost+tsint)
y= a(smt tcost)

2 >
ALYy
72

(a)

isec‘?-t
a

at se‘c3 t

()

lsecst
t

, ,asecst

(c)

a

50 ?Tﬁ lim xsm——A 3ﬂ? lim xsm-—=B %

x=0. X o« X—oo :
ﬁ%ﬁfl?ﬁ?—mm%7 \w
(@) A=B=0y Sy KO
(b) A=03R B=w -
© A=13K Bew

drA=oslB=1 © v



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

eY

51. The solution of the differential equation

/ —
§‘/ /5_2\ lim €
| -0*

(x+2y3)%=y, y(0)=1
is
x+y-y3=0
syrPovs
—x+2y—2y3=d :
x+2y—2y3=0

1

1,
T 1s equal to
ex+]

d 2

\\\_ SF%

s 53»’1‘h‘é function

r il
-

54,

/17-

0(x)=(x-a)™{x~b)"

satisfies the conditions - of Rolle’s

theorem, when

|

@ mn are positiVezintegers
(b)\/ m, n are positive integers and a<b
a<b

(c)

(d) ;m>n

Let f:R>Rbea dlfferenflable function
such that f (x2) 4xv —1 for x>O and
f()=1 Then f@is:

64 7

(@)
(b) 30 )
(c) 42 e By
@ 28 {t
C

15

GET IT ON
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51. dahel GHIERU

52.

@

53.

54.

(x+2y° )——y, y(0)=1
1T 8
(a) x+y—y3=0
(b) x-y+y3=0
(© -x+2y-273=0
x+2y-24° =

(d) x+2y-2y3=0

. ex-1
g

ex +1
s _‘j

(b) 1%
(c)

(d)

0 -

2

o) =(e=a)Te-b) T
e

m, nﬂ?mﬁﬁﬂla<b

()
(b)
©
@

a<b

m>n

Wﬁ?ﬁﬁﬂQfR——)R@WWEH
m%ﬁaf(xz)—r&:l x>o%sfem

AR F)=1 aaf(4)%

(a) 64

(b) 30 m el
(©) 42 8y
(d) 28 0 ()
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toinfinity

X
55. If y=x* , then x

y2

@ ———
y-xloge x

y2

x-yloge x

(b)

y2

() ———
1-yloge x

92

d ——
Yloge x -1

56.

n 2 2
value of Ig (%) +(%)
() logeW2+1)

(b) logel2-1)
(©) V2logeW2+1)
(d) ﬁloge(‘/i"})u

:57. The value of

[ 1 1
——
n+l n+2°

i

lim
n—eo

N

is Sy
(a) 0V
(b) loge2
(c)
+(d) loge6

loge 3

58. lim

P
(a)
(b)~ e
© 2

e
(@ O

a n ’. |
(1+sin;) is' equal to

e

/17-C

dy

is equal to

If x=t, y=loge(cost), te[O, g], then the

- dt is,(;‘

3,

bl &
6nl '

{37,350
13§ e

55. .qﬁ y= xxx

y2

y-xloge x

(a)

y2

x-yloge x

S

(b)

y2

) 1-yloge x

y2

yloge x -1

()

56.

n 2 2

HaRe
(a) loge(v2+1)
(b) loge(v2-1)

| (€) V2logeW2+1)

(A 2loge(W2-1)

[1 ;

——+__
n+l.in+2:

dt

lim
n—eo

57.

> (@) 0
(b) loge2
(c)
(d) loge6

loge3

lim a
Nn—o0

(@)
(b) a
()
(A

" B8, (1+sin

e

e2a

0

16

At xR
dx

R x=t, y=loge(cost),\ te[O,

) gt

oot

&) mm

GET IT ON
Google Play

_], 2

4

1 3
— | A
"l Gn] %

N, 3
N/,
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1
59. The value of J-OOOOe

/ d
@ €000 )

X =1 gy is

1000

e -1
(b) S——

e-1

(c) 1000(e-))

e-1
1000

(d)

60. The value of [x%e*dx is .
(@ 2e*+c
(b) (x2+2)e” +c
© (x2 +2x+2)eX +c

() (x2-2x+2eX+c¥

61. The valuej of j:(—l%w is .
(a) g/
(b) 3
© 3
@ 3

1 :
62. Ifu=(x2 +y2)§ and %3 +y3 +3axy= 5a?,

du :
the value of — at (q, a) is
then a #:'.:2 '(‘ - .) ,').1

@) |
(b) a2
(c)
(d)

a

3a2

None of the above

/17-C
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59. 'éoooe"’..l"] dx 1 A 2

(a) elQOO -1

(1000 _;

(b) g

(c) 1000(e-1)\

e-1

@ 1000

60. '[xQexdx.'ﬂ ‘TF{%
(@) 2e*+c .
() (x2 +.2)ex re
(c) (2 +2’x+.2)e" +é

(A (x?-2x+2e” +c

o1, [7 — 2

—  WRTE SN
0 (1+x)(1+x2)

J (a) &,

ST

(b)

&3

(c)

wlAa .
~

S

E

1
62. ﬂﬁ.’ u=(x2+y2)2 ar x3+y3+3a.xy=5a2
3, T (g a)qz'%mm% '

(@)
(b) a2,

a

() 3a?
@ SHEdADEAE .

[ P.T.O.
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y . _ b GET IT ON
_ AWHDZMon of the differential equation: | 63. FFS! Wﬂm__a- Google Play
L 1= x2 ‘ T Zay+1-y? a0 (I '

1-x2dy+y1]y2 dx=0 (Jx|<1,|y|<))

sis e Forstemr e IULAT { 1) W@ga%
il R —
(a) xxll—y2+y\/1—x.2f=c 2 (a) x 1—y2+y‘ﬁ'x =¢
() xsin~!y+ysin~lx=c | (b) xsin—1y+ysin‘1x=c
2 2 ' 2
7= z ‘~y 5 A (c) ————2 +————
<% -yt Ni-x? 1-4%
@ xl-x?ayfl-gP=c . oo | — 3 1 o8
y'\/ y O T 5 W BT ' y (d) X 1_x2 +y l_y =C iy
64. If u=logx3+y3 the;i" ‘Ltltleglvéyh‘ie of 8., .3 P 9
x+y .. fo s clogX Y @ x iy w e
Sy i A PR 64. I< u=log — 3x Vg
X—+y—.i8 i
ax dy » .
U R (@) u
(a) u - s "
o 1) (b) 2 AR 2]
(b) 2
(© O
@ 0" G w
@ u+l R N .

65. If x+2y=8, then the max;mum value of 65. A3 x +2y=8, T xy I feHad 7H 2

xy is . " (@. 20
20
(@) /i (b) 16
(b) 16 (c) 24
c) 24
) (d 8
@ 8v~ - . |
i . . 65-a§5x=a9+ in® = =-“E |
66. The equation of the tangent: at ‘9‘-—-3 to | & H+eing), y a(1+icose)i';'ﬁ 9’ 2 i
the curve x=a(0+sinb), y=a(l+cosh) is ‘ wl ? (i
i n: ‘ © L o (8) x-Y=qglF A
—y=al =+2 15" ey P L8 P T o y a( +2) IRi i
(b x- y—%“ (b)) x-y=37
(&) ;
T {d) v
() x+y=a(§+2) n (c) x+y=a(g+2) i
d _an . ’ ) ("
@ x+y=7 ; @) x+y=92

2

/17-C 18
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67. The area bounded. by the -curves 67. Th y=|x|-1q y=—|x|+1 3 fir &3 &
y=|x|-1and y=-|x|+1is { :

(@ 1 . @ 1
(b) 2 o
() 22 © 242
(d) 4 .‘ d 4
" R o devpie < | 2 A Py e
. x+2 ’ “I7° R) AR % ol § TRA @, @ 9%
passes through the origin, then the x,+2 4
equation of the curve is F R
(@) xy+2y+3x=0 ' " (a) xy+2y+3x=0
() x2-y2+2x-3y=0 (b) x2-y?+2x-3y=0
() xy+6x=0 () xy+6x=0
(d) xy-2y+3x=0 _ : (d) xy-2y+3x=0
69. If y(x) is a solution of the dlfferentlal 69. e y(x), T gl
eq“a““;y " %wxy x, Y(0)=0

a+2xy=x, ;y(0)=0 &xt wy 4y iy
i e B m@m% A lim y(x)%

then lim y(x) is T J oyt
3% Ta - - “ : _1,
(a) ~% ST R - (@) 3
| A b) -1
(b) -1 (b) 1
1%
© 3 © 3 2
@1 o) | @1
l ' : (2+smx) dy "
70. If y y(x) and —(2;T2x)(23)f'cosx ; 70 zﬂ? y y(x) T'IY]T _y+1 (dx) cosx,’
y(0)=1, then y(E) is eqﬁalfto yeail % "?f‘ l‘ (0) = b H‘l y( ) %
(@) 1 o g @ 1 |
0 2 .
& 2 w2
I 1
© -3 o -
1 i
/17-C - 19 : P10,
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i, one. more item is added the ;mean

72

- .74, A bag contalns 8 red and: 5 whlte balls

. 71. The mean weight of 9 items is 15 kg, If

weight becomes 16 kg. Then the welght
of the 10th item is ‘

(a) 35 kg
(b) 30 kg PN
(c) 25 kg
(d) :20 kg

i ) '.1 t L

It P(A)=<%, P(B)== and P(AmB)——
then P(A /B) is

e pe
u“r“..‘ i

@ 3
4

©

(d) § ;_a;--:w-l’

73. A coin is thrown 6 times. The probability
of getting exactly four heads is I~

@ 5
o 3
© = ot =
@ = (o

Three ‘balls ‘are drawn at random. The '
probability that;: -one. ball is red and
two balls are white, is

40. ' Eoger 0
@ 13 o |
b 2 r f:
146 i
10 £ i3 |
© 296 g
5 i
@ 26 g |
/17-C 20
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e W15 Fho e &) 4
71%“%% 3 @ WA AR 16 ﬁﬁomo 3t

3 7 108 T 71 R

(ap/35 o 0
(b) 30 fHe e
(c) 25 fae e
Xl 20 oo Mo

IR ('“‘:-“'.

s 3 -2 8 st P(anB=Ll
72, 7R PA)=15 PBI=
./

5
R p(A/B)m_rrm% i

@
b 5
© 4
b ~;u;,(a)'._:_ -
73.mﬁﬁﬁswmﬁ%|aﬁmwmm‘
ARt 0T
o0
& .
K 1% )
@ 2> i

74@%ﬂ8maﬁzsmﬁﬁm
/?ﬁwﬂ%ﬁ%raﬁam%lwmﬁkaw
mﬁmﬁm% s Fe ]| NS
@) 29
143 (i
80
(b) ﬁé !(‘;'?

(c) _1_.0__ | :
296 )

"A

@ S ;
286 (b,
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75. The mean of 1, 3, 4, 5, 7, 4 is;n. The
numbers 3, 2, 2, 4, 3, p, 3 have mean
n-1and median g. Then p+gqis

(a)
(b)
(c)
(d)

76.1f a hyperbola,

equations are x= ct y—?, meéts any

6
4
7
S

1.4
R
tod

whose parametrlc

T

circle with centre at (0, 0) in four points,
determined by the parametric values
t, to, t3 and tg4, then the value of
ty -ty tz -ty is

(@)
(b)

c2

-2

77. The product

x2

_+___._

a?
(a)
(b)
(c)
(d)

2
Yy 5 1on any tangent to 1t is ]
b lo Y qJ % alb
2 Loy — 6
a 'O .M -\—j_qq’i%
b2 4] b.%
21 m\”ﬁ e '3’

Ao {oN { o
e Y " pe [

A a5y G

of the perpcndlculars

drawn from the foci of .an ellipse

78. Let y=mx+c be the equation of normal |
to the: parabola y =4ax at (am ; —2am)

Then c is-equal to . R _}

(a)
(b)
(c)

()

/117-C

3 L, lad
am $ felig ~ n— o
3 Q
—2am+am. . ooy '#
) s A | |
2am+am= ;g
_2am—am3 [

21

GET IT ON
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75. 1, 3,.4,.5, 7, 4 % WA n ¢ FE&A 3, 2,
2, 4, 3, p, 3l WA n- 17 I AEH

g1 pra?
(a) 6w

(b) 4

© 7

@ s

76@@3«%@@ mmm

x=ct, y--"e %T:(o O)a'réﬁs&ﬁga%

ﬁ—e‘iaﬂﬁgaﬁ % w41 4, to,
t33ﬂ”{t4‘@ﬁﬂfﬂ'ﬂ:§ ﬁﬁa?ﬂ% @

t-ta-t3- t4$lm%

(@) c?

(b) -2

wﬁmm@tmaﬁmw%

(@) a2
(b) b2
© -1

d) 2

78. 4 ymx+c,‘T@FFIy2 4ax7:liﬁ§
(am,,—2am) ‘R W Cof Wﬁaﬁt"l 2l ﬁ’l

i i‘cauat%

c'.[ i ) ' l-"/_jr'.
) am3 ’

(b) -2am+am )

3

(©) 2am+am®, ... ... %,

@ -2am-am

n

{6 o4l 1o sund

[ .10,
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2.0 ) Hars
/ ) 2 _ohx -7y =0 'gqum
//@f the sum of the slopes of the lines | 79. 3R @l x* -2y ) o

f IR T R, W

XQ"QAW‘7y2=0 is four 'times their &7 A I AR I T8, @ )5
@ product, then the value of A is k]
t -
= . b @) -1

LK (b) 2

S () -2

@ (d 1

. "‘
. 80. The distance between the foci of .a 0. frdfl Iffamaed ¥ afm & d9 # {ﬁ

?yperbola is 16 }1nit§ and its eccer}tricity 16 e @ FC] bl V2 B R
is +2. Its equation is : o

(8) x?-32=32 day o :
y £ “(a) x2_y2=32

(b) 2x%-y2=32-
Y (b) 2x2-y?=32

() x2-2y%=32 o e
i . » (€) x2-2y%=32
(d) 3x2%-3y?=32 To- A4
(d) 3x2-3y%=32
81. For what values of k, the line y=kx+2' Y,
will be tangent to the, conic [ 81.k F o Al & oI W1 y=kx+2, TR

82. The locus of “the ‘centres of «circles, .

that passes through the origin and cuts f 1,,.82" ?’Jﬁ % 5 Torguy, < Tt ¥ T %

4x2 -9y? =367 . 4x2 - 9y? = 36 ) w-@ A7
2 e ; ::_:“,“ < ; e v , 2 3
(a) == il = T A oo T o
3 N 3
22 N o |
) .,“?’__.' 3 ( :
g WL
\ by~ R |
8 i :
e 3 Iy 8 1 #
9 (9) ‘i—‘ o |
6%y ? oy
42 ) |
J : 5-/?: 3 V% s §
‘ bt v 8
R

N

off a length 6 from the line y=4, is ! p = mﬂﬁﬂ y.=4 V6 SIS T 1 SRS .
e £, a) § 5 J {
(@) x2-8y+25=0 o (@) " x2-8y+25-0 i |
I ot ‘p ‘-.; f
b x7-sy-25m0 B gy s
2 _ ;
(©) x“+8y-25=0 (c) x2+8y-25=0' o bt B
(d) None of the above ° @) o ¥ 3 o
q‘tﬁ ) RIS )
/17-C | 22 '
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83. The image of the point (3,5,7) in the
plane 2x+y+2=6 is

(a)
(0)
(c)
(d)

5,13

(5,-1,3)
(5,1, -3
(=51 3

84. The direction cosines of a line segment

whose projections on the coordinate
axes are -6, 3,2, are

6 32
(a) Bt Rt S
7T 77
6 32
(b) = oy = }l'.\
7 7 7 e (""}':
6..3:2
(C) o= L
7T T7
| (d) None of the above &
85. If the lines e
J§~2 = y-3 =.z‘—,4 -and & L. .
Jinig YAy o kN
X-1 ys2:253 5"
qa. 85 A
(2] 1o e ;,‘j' .

are coplanar, then a is equal to '

@ 1
(b) 2 :
7]
(c) 3 Th
' X 5T HE O
d 4

86. The length of pcrpend1cu1ar from (1 2, 3)

: x-6_y=T7_z= 7‘

to' the' line ,_3__. 2 —-—_2 .’
(a 3 R IH
(b) 17 gl Sy I
(C) 7 e o (25
AR T

(d) ~20 o

/17-C

23

GET IT ON
Google Play

83. ¥dd 2x+y+z=6 H fog (357) <l

uﬁfﬁ'w%
(a)
(b)
©)
@ 513

(513
(5: v 1; 3)

(_5’ ], - 3)

84.

@)
b
©

.“'(d) mﬁiﬁﬁ%ﬁiqﬁ

85. 7R Yt

X = Zptf==repti;
<3 S 5

'@%@1@0@, ﬁr«%ﬁﬁmmﬁmu@l‘z

v gl
[N ¥

ey oy MY L

a
Wﬂ'&ﬁ'ﬂ% T'ﬁfam%
@ 3
(b) 2
© 3
A TC IR

1/'

86. (123)%%@1" =0, Y-

Sty Ly b

3
iy i
(a) 3
(b) V17
() 7
(d) V20

21

3 5 4
{H
7. _Z- 7 r g.ra ™
~ 9
{a
)
= [ ‘3
¢ g "
[ P.T.0.
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87.If coso, cosP, cosy are the direction 87. af¢ cosa, cosf, cosY CRA i H
cosines of a straight line, then fegepreard 8, @
.2
(sin2a+sin2[3+sin27) (sin2a +sin2[3+sm Y)
is equal to NGRS
(@) O @ 0V
®) 1 (b) 1
(c) 3 © 3
(@) 2 d 2
88. The radius of the sphere '
2,.2,,2 88, Tl x2 +y? +22 - x-y-2=0 I P ?
x“+y“+z°-x-y-z=0
S
is (a) A
3 7
@ >
2 m L
3
o 3
(c) 2
13
(c) 2
@ V3
@ V3 U se. wim
89. The conic - 5x2 - 6xy+ 5y2 +26x-22y+29=0
5x2 - 6xy+5y>+26x-22y+29=0 frefm FE d
represer;ts‘_‘ - (a) @ ™
(a) a circle . (b.) = TI
(b) a parabola R 5
(c) T 3fRacE
(c) a hyperbola ;
(d) an ellipse () @. !
90. The coordinates of the point, where the 90. 34 T, et tan b
line | , X-2_y+3_z-1 g
x—2=y+3=z—1 NI \" X 3 —.1~ 1 —T ”,
b B etk I 2x+y+z=7 F Fredew w7 L b |
intersects the plane 2x+y+2z="7, are Torien & t i
@ @1-7 - ) @ 21 -7
(b) (7 -12) - Ve (b) (7, -1, ;
© (L-27 3} () ( -2 7)
@ @-71 {9 @ @ -7

/17-C | 24
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91. If A is a 3x3 non-singular matrix, then 91. 9% A T 3x3 W"ﬂq AR 2, a

. S
2~ detladj4) is equal to, e/"’/éa' det (adj A) TR B
(@ 2 detA ' Yo e
/ (a) 2 det A
(b) 3 det A
e (b) 3 det A

() (detA)?

. (c) (detA)?
(d) (detA)
@) (detA)d

92. The composite mapping f o g of the maps
fiR>R flx)=sinx
g:R>R glx)=x? il

92, TffE

g:R—>R, g(x]=x2

2 | . ; o) - ‘_:":5""1'% .Eﬂ'ﬂé“ '!'llflli ’ l 'l fQQWqH% -L

(a) sinx+x

18

(a) sinx+x2
(b) sin(x?) I
(b) sin(x?)
(©) (sinx)?
‘ (c) (sinx)2
@ =5 |
sinx /
93. A square matrix P satisfies PQéI-P- i ‘ ¥ emifusy Bk g8 . I.j(";/f

If P" =5I-8P, then nis equal to - L ; .
| | :9 /] 93.\T& T A P, P2=I—"Pﬁ.;¥{'g'2'$@%l

(a) 4 Rt ypetion | IR PN =5I-8P, T nWHE
(b) 5 e Mg X @ 4
(c) 6 e, v, 0 5
@ 7 PR © 6
94. The number otfés:oh_l_/t_ivc;réls of g wma ] ud! AQ) e Tisgion fom G0 < if
is i S 94, 1og4(£?1)%103‘2(:;43)%‘?6%%#@%
(a) 2 P | @2 |
o 3 oy mse )
© 1 | BN SIS et
d 0 | 6" 45 i @ o : 0
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95. The ‘eigenvah,;es of the matrix 7 . 95. 3TE 4 H'g \ pgt “ {'
0 ¢ o F2F¥ [ i £ 5
are | L ﬁmm <;mg?ﬂ)qﬂ% o)
@ ahg RUSEEIR S (@) ahg
b) agc NISEE (b) @6¢
© ahc B o (© ahc b
) @b, ¢l = Fugst 1) @ abe’

QG.WWWW‘%WW%N?W@

96. A cyclic group havmg only one generator

can have at most T &
,(a)- 1 element n»v::f" i | (a) 1 3994 A
(b) 2 elements | i ) (b) 2 9T
(c) 3 elements | (c) 3 HIFd
gestivay
(d) 4 elements K (d) 4 a9 )

b '?)

(g,ﬁb 7. Every diagonal element"‘; of a{yls.kew- 97. Tt ﬁw -gAfAd 31T5’{§ H TIAF ﬁ%"ﬂq
\&°

symmetric matrix is . v SWK\THI% A i1 .89

.y i M Loyg B f
(a) Zero = ..t s Tied F wIY, S (a) QEJ

: 7 .‘) -3 : 4 l‘.‘. .»‘—;{! (J",‘
(b) umty (b) HT :

_ . 18) fel) U

(c) non-zero . (c) I 7
d urely imagin .
@ purely imaginary (@) & Feahw (o}

98. The number of real solutions ‘of the 08.

. 2 .
equation |x|*+5|x|+4=0is :
oy | Bk RN

dogala{l ~xlpgol a@

(a) 4

€ fa) | (@) 4
(b) 2 . s ) ;, b) 2 &

() 1 o) { © 1
RS el @ .
/17-C 26



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

eY

99. The sum of the infinite series
11

1 1:8,71 % 155ty
22 2% o2 248'2‘3 e
s '
2
a a—
(a) 3
1
b —
(b) .
(c) J3
3
d il
(d) 5

100. The sum of three numbers m anthmetlc

progression'is 51 and the product of first |

and third terms._is 273 The common
difference of this progressxon is '

(a) 5 ) ‘ :. rpeed
b) 4
(©)

4
3
d) 6

101. The hermonic mean of two numbers ,‘-
is 4. If their arithmetic mean A and |

geometnc mean G satisfy the equat1on
2A+G =27, then the numbex_‘s are

@) F
(o
©
@

1, 3
1, 4
8; 6

None of the above '

102. Let A be a 3><3 matnx w1th elgenvalues

i

GET IT ON
Google Play

99, 31q Joft
11131 18351

22 2492 24623
1 I #

(a)

3

b |2

WE

X N R AT R T 1T
d o ;
ol iz

R R

1oom%ﬁﬁmmaﬁmm51%w

umqag?ﬂamaﬁwmzn%lsﬂ
G I TG IR /

i : oot
d 6
- 101. a‘rmﬁmmmw4%|wﬁmm

WME A T PR WE G, GHE
2A+G2 =27 F TgE A &, ?ham%

(a) "
(b)
@ 3,6
r (d) m@mﬁﬂ?ﬁiqﬁ

1

h18" A
1, 4

nozmeﬂm%Amsxsaﬂwg% R
firenafies  (TFR) A 1—1,,0 3

], ~1,0. Then the value of |I+A 00} is , |I+A100| -
R A,'l f‘
e | oes
< § it
(b) 8 (b) 8
Y s i
o ’ (c) 27
(c) 27 v ; i , s 1 iy
(d) 100 e L ) 100 5.
27 | BT,
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103. Let G be a group with identity element e.
Let aq,beG be such that ;a-s =e and

aba~! =b2, Then ofp) is |
(a) 17
(b)
(c)
(d)

23
29

31 ' .“\‘_: 5
) F

&> 104. Every square matrix can be expressed
as it

()

(b) a skew-symmetric matrix -

- /le)

a Hermitian matrix ~ *

sum of  symmetric and skew-
..symmetnc matnces

None .of the albovare i i

(d)
105. The sum of the infinite serie§
1 1+2 1+2+3 1+2+3+4 oo

PR 5
is
(@) 2. '’
() e ﬂ,,j,_; |
3e
(c) =
e
(d) .

106. The characteristic roots of the matnx :

s [5 4] are
12

@ 1,6

(b)

(c)

(d)

-1,6
-1, -6

1, -6

/17-C
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103, = A s FEErER

3| 7H T
j}ieaw aba~L=b%. T o(b) B

¥ e % W Gy
% a, beG T TR R fy

(a) 17
(b) 23
(c) 29 E
d 31 | ! _‘
104, R &7 g A A AT ST FA1 §
| (a) w e g % w9 A

(b) @ﬁwwﬁaﬂrﬂﬁ“ﬁ

i ,‘ua,u,

(c) mﬁamﬁwmﬁama@% )

RS
' '
°

@ Eﬁ?ﬁﬁ%aﬁ?ﬂﬁ

105, 3 Ao (=) (0

‘1 142 1+42+3
+ + +

1 142+3+4 0.
4.

2 3
&1 IS @

(8) 2e

] W iy MR

3¢

(c)

(d)

.| d
1S el
LA
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108.

109.

110.

/17-C

. For square matrices A and B, which' of

the following is true?
(@) (AB)’=A'B’

(b) (A+B)’=A’+B’
(€ (AB~l=4-1p-1

@ (A+B1=4"14p"1

The characteristic roots of a Hermitian
matrix are

(a) real

(b) purely imaginary

(c) | cpmplex —numbe;‘s

(d) None of the above

The generator/ generators of the cyclic
2

group {a, a a3 a '=e} is/are.
(a) aé’l
(b) a?
(c) a4,a2
(d) a, a3
The value of the determinant
43 1 .6
35 7 4 !
17 3 2 _.
is !
@wo o
(b) 56 ‘
() 756 |
(d) 964

29

GET IT ON
Google Play

107. 91 3R A @ B & fe fim & @ #H-\
T 87

(@) (AB)'=A'B’

S ,
(b) (A+B)=A'+p"
(¢ (aB~1=a"1p"1

(d) (A+B)1=a"1+B7!

103.23%%%&%@@%@%%

 (b) /g T

« m@wﬁaﬁéaﬁ

Y 1.2

109 Eﬁﬂ H‘{% fa,a?, a3; a* -e}ﬂ/% RRED

B[R

@ .

(b)
(©)

(d)

110. grfo

H A B

()
(o
©
@)

0o
56
756

964
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af 5 4 6cos0 +2¢0s20) a; St
111. If the maximum and minimum valuesof |:111. (5 T X< - pX+q=2g
(5+6cosB+2cos20) satisfy the quadratic =7 am, 5 FA:
equation x*- px+q=2, then p, q are ﬁgﬁ?ﬂa%yﬁp’ 4% |
respectively : W @ 13 12 g
a ’ A;}
a) 13, 12 N ‘
(b). 12, 13 44
4y () (¢ 14, 13 }
(© 14, 13 . |
, 13, 14
d) 13, 14 : B o (d) .
. . ...+40$TW :
i 112. The sum of the series i 112. Avft 72+70+68+ fing!
' §T2470+68+: 440 1 S UL 1T ) 950
: ‘> wr&')
is ‘ L O (b) 952
A «3;1,
\al 950 i @ | (c) 954
b) 952 ‘
® :ﬁ%l =R (- (d) 956
(c) 954 6‘3 :}Q_\—Th sy | i j
(d) 956 :’gq_ : 3 IISWW%ﬁWmﬁWWZ
re gt 5 WX , fy-amd e » , S |
113. Given that the set Z of integers forms a | axb=a+b+1; a, beZ o
~ group under the -binary; operanon g it
defined by . | e ovfenfa R, %aﬁa@mm%vw
a*b=a+b+1; a,beZ - | F‘I\Fﬁﬂmﬂﬁlii'"% v
! The inverse of -2 in the group is (a) 2
(a) 2 i . (b) 4
(b) 4 N o © -2
(C) -2 (d) 0 R
(d). 0 i)
: 114,
114. The sum of first ten terms of the series //’I 1 =
1. 1 1 SR N 453 t—
— =t . 21
21" 773165 & | ’ 77 168"
: |
is N6 ! W?Hqﬁm;ﬁ-q%
10 | @ 19
@) 155 | 129
20 | 20
b) — b) <L
(b) 129 - | (b) 5
30 |
© 15 ;j @ 30
129
40
@ 12 @ 20
129
/17-C 30 o
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115. The condition,that the equations: ' 115, g,
2 /
ax® +bx+c=0, ax2+b'x+c"=0,.\ ax? +bx'+c=0, a'x?+b'x+c'=0
have a common root is %@3‘1"1%"13 F'T':q 1 nﬁéq%
f '0)2 L / ’ ’
(a) (bc -b C) =(Ca ==C a)(ab -a b) (a) (bcl_blC)Q=(ca;_c/a)(ab/_arb)
" 2‘ , ; , '
(b) (ab’~a’b)* =(ca’-c’a)(bc’ - b 0) (b) (ab’-a’b)2 =(ca’~ c'a)(bc’~ b'd)
2 ’
(C) (Ca -C a) _(bc b C)(ab -Qa b) ( ) (Ca _Ca) _(bc b C)(ab’ / )
\ :
(d) None of the above | o
— (@) 37 F A 9 7
116. The value of p for Whlch the sum of the | 116, p 1 98 A mm qfiF
squares of the roots' of the equatlon . : J _
- ¢ (e —2 - 1:0 Sy =1
x? - (p-2)x-p+1=0 X2m(p=2x=p+ &
is minimum, will.be" ; , % Tl & WW‘@', '@T"ﬂ
(@ O : (@l O it s snoesno diod o)
(b 1 (b) 1 EIIREIES (h)
@) 3 e @3
117. The domain of the functlon 117' W i ( +3) e
ogo(x :
et A ——1°g2"‘+3’* s P i e
- 2 32 " ' x+3x+2
i Lo o gt f.\ aﬂm% ] o
1S | ¥ i R A|)‘lt‘:1‘2.,' | % ’ 3 ‘|
(@) R-{-1,-2} it 0 (a) R- {-1 2} L.
®) 2= g - (_, =
() R-{1-2-3 ‘ o () R-{-1,-2, -3}
e RO N 0 -3, ) {~1 -
(d) (-3,%)-{1 -2} * (d) =3, 0)-{-1 -2
118. Let * be a blnaryvb‘}‘\)”eratwigﬁ defined on 118 LIRSS LRE @ ﬁ BTIHTﬁ F?WT %FH"FF
the set of positive ratlonal numbers Q* Riice '{;f)@l&ﬁ ¥ W= Q" W fmm
H 14 y . a
by the rule a"=b=—5fZ v'a bEQ+ Then ay b el a,l_be,,Qf.;m‘M;%vl ™
the 1nverse of 4*6 is 4 x 6?1'1 nﬁa‘m%
9 ‘ : A 9 =l Yy
() 3 Yhiig
.2_ l(b) _2_ it
(b) 3 A 3 o
3 i @
(€ 3 | 8 :
P K 3 {
3 , d =
(d) 5 H-: P 1 } 2 1!
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127. If f(x)=cos|x| and g(x)=sin|x| then 127. 33 f(x)=cos |x]| 3#{ glx)=sin Ixl
(a) both fand'g are even functions (@) f ai g a1 w e €
(b) both fand g are odd functions (b) f ¥R g3 fermm Fed E

(c) fis an even function and g is an
odd function

@ g T T e €
(d). fis an odd function and g is an (d) f T fam er.ad g

even function

() f@wWﬁmgW’ﬁﬁwW%

128. IR ;
128. If 1 x x2 I
= .
1 x x2 . flx)=| x x2 1
flo=lx x2 1 _ 2. x
X2 1 '9 /;
D>ErTr @ A3 mam e
then the value of f (9’_ 3)is . ,
e ; _-——’:'“ \ ot | %o su@y %6 e
a) -6 I M .
( ) hu WOH%“’\ b 6
(b) Y W
) 4 ‘ Y -
2 TR ‘ R
d -4 lAmEw >5l "\YL"‘\'L'NL - ( )
N
AR MR ER 129. maﬁﬁqﬁmvﬁqu{R@wa%
129. Let R be a relation on a set A and let I
1 AR R 6 1y, A R ao geay @)
: denote the identity relation on A. ThenR M2 R F( B % IR i R
is antisymmetric, if and only if ! beret
@) RIFLo-4- 1Ak L&:” A@ ) R=RY & B
(b) RUR—IQIA o IV TS s L(’f“\) WQ« A\)‘X(b) RUR CIA
(C) RF\R_IQIA-', \(\_ /O \ k (C) Rf\R CIA :
(d) None of the above : v',\,\\, \)('W (d) Wﬁ@iﬁéq‘gﬁ I

130. If x is the first term of a geometric | 130, 3f 'Q'eﬁ Huﬁ—ﬂ-{ AR ﬁw ‘E”x w
progression and the sum of its infinite g

¢ 1 7 24 3
IR T3 T Ay L
terms is %, then x lies in the interval A, M xd AR '
5 ) LS - 02 1," : #1 y A : |
kR - S (a) O<x<=9
O<x<= SRR £y g - " ) .
(a) x<2 XSg . \‘\
i Bt |
b) -l<x<l v (b) -l<x<= 9 |
. I RS (1 L. . " \
1 1 : 7 p 1 1 & 1
—o<x<= 20 T (i) €) ~=<xi<=
(©) 5<*<3 (c) 2 5 L ) ,
> ) Joramn
' 2
(d) O<x<= d 0<x<2 3
3 (d) =

/17-C 34
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131. If Xr =S, |r|<], then 2 r2 is equal

n=0

n=0
to
2
s
a
@) 2s+1
2
() =
2s-1
2s
(c)
s2—1
(d) s2

132. The infinite series

1 1 1 1 .
—_t—t—F—+.:.00
1P 2P 3P 4P

is convergent, if

@) p=0

(b) p<ilv

() p=1

(d) p>1

133. Which one of the following sequences is

not convergent?

@ (1+-1")
(©) <1+H)n>
n

(d)

None of the above

134, If . - A
(1—x+x2)n =ag +a1x+a2x2+'"+a2nx

2n

then (ag+az +as +.--+agp) is qu.al to

3n-1
2

3" +1

4

@
(b)
© =5
(@

/17-C

Tl xy X2 =ag +ayx +agx

GET IT ON
Google Play

131, IR Zr" =s, |r|<], [l
n=0

n=0

s2

) 2s+1

(b)

133. f= 3gHm # | FH-71
)

B ()

() <1+(—l)n> '
n

(d) 3w & A FIE T
134. 3f%

2

T (ag +ag +ag4 + -+ +ag,) WK R

3n-1
2

341
2

3" 42
2

3 -2

(a)

(b)

(c)

(d)

+otaop X

{13

irQnW%

Ffirrd 7@ 27

2n
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135. Every subgroup of an Abelian group is 135 'QEF G»Tl'a?ﬁ qg bl T

not
(a) cyclic R
(b) Abelian (o) e
() normal i o) I
(d) e # A FIE T

(d) None of the above

136. 4R [ax B2+ [d-b|2 =144 3 [al=4 &, @

136. If|axb|2+ [@-b|? =144 and |a| 4, then .
|b| is equal to % b TR 2
(@) 12 iF oy : (a) 12
. S
© 4 © 4
(d). 3 il ) ‘(d_) 3

137. f F=x y1+m_1+2yzﬁ then' the valueé of 137° “qﬁ F=x y1+;z_1+2yzk , ?ﬁ div curl F

divcurl F is f (i (._ 5] Wqﬁ%
(@ O , _ (a) O
(b) 1 (b) 1
() 2 v - (¢ 2
@ 3 e S @ 3 \
"‘.I 4':}“ ht ‘ i ) . . I
138. If a and b are constant vectors, then 138 ’Jﬁ a 9 b W Wy ¥, @ Vi3 ‘B]') ‘
S "»1 e ’ )
V(r a, b]) is equa] to j zma'(% d e gyt : .
(b) @57 TR A b) @B)7 .
e It}
© dxb ;R iy © dxb
a B 7 . il - :;
(d) (@xb)lr] . : d @xb)|7|
/17-C . 36
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139. The value of ex'a)g(axz, i 139. (& xd)x(d x b) F qF &
(@ O - (@ 0
b) 6235 b) B2ab
© [db)2 © ’;[za*;z
@) @b3d o @53z

140. div (7 xd), where a i .
) aisa constant vector, 140. div (?x&’), &l @ T =X §iew %, TN &

is equal to
@ 0 R °
) 2 L}
-
(C) I’,‘.’I (C) Ir'
- d oy
@ @7 o Areie )
e - 141;qﬁ33m§g§nmqm r o
141. If ve(;tdrszand B are irrotational, then sy, NS §’ ?h ‘

(@) A B s 3
b) AxBeerad
© A-Byimd L
(@ wﬁmﬁam}m i

g7

(@) AxB is irrotational
(b) AxB is solenoidal
(c) X - f; is rotational

(d) None of the above

j' 2 . :. . i
F Pexiryjezh is | 142 vﬁw-—usrarr x{‘ +‘zk‘%
142. The vector el where r—nxl+y1+zk, is ' T 2
R gTh ""::r?(}aﬁ: .?:4. 7~ e cheeSe DRy
(a) only solenoidal 4 (a) @ m‘ﬁﬂr !
T : siSgziact s )
P b %rcra 3 ‘
(b) only irrotational - . (b) g it
(c) both solenoidal and irrotational (c) wfafreRa o g
(d) neither solenoidal nor irrotational (d) 77 s, 34 SEais
37 4 [ PT.O!
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. T T Y - oS> oS o
143. If AxB=CxD and AxC=BxD,
> - > o
* vectors A-D and B-C are

then

(@) equal
(b)
(c)
(d)

parallel
perpendicular

inclined at an angle of 60°

144. If q, B € are non-coplanar unit vectors

such that ax(bxa)_b—+5, then the
A2
angle between d and b is
3n
(@) —
T
b =
(b) 2
T
C F—
(c) 5
@d =

e 2
145. If Y, Vp, V3 are three non-zero vectors

such that ‘
oy a7 SR it
Vix¥p= V3, V2><V3 Vl
then
- =
@ Ml=Ival ., -
- -
(b) - [Vo|=V3] 4
- -
(c) Ivl=|val
e
(d V2=VxVy.

146. The equation ﬂ‘=2 represents
z+3| ’

(@)
(b)
(c)
(d)

a parabola
a hyperbola

a circle -

an ellipse

/17-C
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5> =2 2 a“f'ﬂﬁﬂ
143. 7R Ax B= 2xD otk AxC=BxDr

A-Da B-C#

(a) TR

(b) THRR

(c) I

d) '60° % HIU T A

;44.@3,3,?%%@3#?@“%%

b+z’,aaa»3ﬁ(5’a;aﬁam
V2

-

c)=

Hxﬁx
At
u 3n

4

@

(b)

e k]

(c)

Noja

(d =

145. 7R U, Uy, V3 99 W asgauféwﬁ%

HXVQ V3, V2XV3 Li

1 )
LLE

iy

(@), %i=ITal

() [Vol=(Vsl |
© [WI=I7

_ e T
(d) V2=Vi>< V3

X = %% o)

ZWW%

3
(@) TH R
(b) T AfrwETr —

(o) TR

o (d) T

38,
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147, If x, = n n
n COS[QnJ“sm[Q J neN, then

lim .
n_)m(xl X2 X3+ xp)

is
(@ o
(b) -1
(c) 1
(d) 2
148, If
flg)= ulx, Y+iv(x, Y, forzz0
0 , forz=0
_.3 3, .8
where u(x,y)— Y 5 v(x,y)=x = 3
x2 +y x2+y2
then the value of lim M, along
z-0 2-0
y=x, will be '
(@) 1-i
1-i
b) -
(b) 2
() 1+i
1+i
d) =%
(d) >
hogn B
149. If a cos?-Hsm——— then the value of
3n -
(}f_a) is
2 rofom
@ ()"
: 1
(b) S
()"
(c) S
(d) (_1)n+1

be root of unity, then the.

u
150. If o(#1) is € 2 L og)3" —(1+m+2m2) i

value of (1+o
(@) O
(b) 1
w

/17-C
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147. R x,, =cos( d J+1sm( ), neN,
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